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m’l—lonors Integrated Math 2 Chapter 4 Test RevieW

- Multiple Choice
Identify the choice that best completes the statement or answers the question.

C 1. The length of DE is shown. What other length 4. Name a median for ACDE.
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(& angle bisector

{ B. median
/ C. midsegment
D. perpendicular bisector
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6. Find the circumcenter of the triangle.

h: C.

Name the smallest angle of AABC. The dlagr(\
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> s . List the sides in order from shortest to longest.
C. -4-3) 8 10. List the sides in order from sh long
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7. In AABC, centroid D is on median Z/lml

AD =x+5 and DM = 2x - 4. Find AM.
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3. Use the information in the diagram to determine

the height of the tree. The diagram is not to

scale.
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Al 1. Which three lengths CANNOT be the lengths of
sides of a triangle?
19m,5m, 10m (245 19
B. 13m,10m, {4 m
C. Tm,9m,I3m
D. 23m,21m, 13 m
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12. Find the value of x. ny’—[ z ,;:( (2)
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13. Find the length of the midsegment. The diagram

is not to scale. P
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14. DF bisects ZEDG. Find the value of x. The
diagram is not to scale.
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15. @ is equidistant from the sides of L7SR. Find
m/RST. The diagram is not to scale.
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16. Q is equidistant from the sides of £TSR. Find the
value of x. The diagram is not to scale.
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17. Find the length of 4B, given that DB is a median
of the triangle and AC = 54.
D

L 4

wm LRSTE3(E) 5k




Name:

18. DF bisects LZEDG. Find FG. The diagram is not
to scale.
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19. Points B, D, and F are midpoints of the sides of
AACE. EC=31 and DF=15. Find AC.

The diagram is not to scale.
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mShort Answer

20. Identify parallel segments in the diagram. o Tis the midpoint of -QE U/ is the midpoint of
@ - 08. RS =36 and m£QUT = 85. What are TU and
< ‘)D H A L mLOSR? Explain .
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23. AC and BD are perpendicular bisectors of each
other. Find BC, AE, DB, and DC. Justify your

21. B is the midpoint of AC and D is the midpoint of

— answers.
CE. Solve for x, given BD = 5x+ 3 and :
AE =4x+12. 4
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24, In AFGH, draw median FJ from F to the side
Yye+iz opposite F.
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L _ 25. Two sides of a triangle have lesigths 6~and 8. What lengths are possible for the third side? Explain.
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